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I nmwn: further definitions of Y91 that occasion nT9v 11
a  Gender: if she has a mOmY or LYNITIR
i Alone or with male: sits for both male (7/33) and female (14/66)
1 Question: if alone, needs to “sit for both”, certainly if there is a male with it, must “sit for both”
2 Answer: the n25n w110 (@1:20 RIP7) teaches that gender is determined during coitus, we would think that since one
is male, the other must also be male (and only observe 151 N5 ') — 5"np that we are wwn for co-nyrn
ii ~ With female: only sits for female (14/66)
b Point of “birth”: if it comes out cut up or backwards (breech) — once a majority is out
i But if: it comes out head-first, when most of the head (i.e. the forehead) is out, considered born
I Discussion re: status of X" v
a  37if a X" saw either “red” (n7) or “white” (n2°1) — no liability for nknV2 WTPNR NR’3, nor do we burn NMIN s/he touched
b However: if R0 saw both — no liability for wTpn nr»a, but we do burn nmyn s/he touched
i Explanation (for exemption): v. 1 (mRnv m>w) stipulates 151 and napy — only certain male or female
ii  Proposal: support for Xn»»2 with same ruling
1 Rejection(r51): that Rn»1 is authored by 8™, who, contra ™, rules (re: v. 2) that there must be prior awareness of
nrmo (for liability for wTpn nr>1) and awareness of the type of nkmv; 80 doesn’t know if ar or nar
(a) Note:following 891, ™ would find liability for 8o who saw either blood or 1219
iii Question: why does 11 distinguish and rule that nmn is burnt (if X" sees both)? Should be same, per v. 3
1 Answer: v. 3 is needed for pny’ '7’s exegesis — 71217 extends to all “liquid sources” of y11¥n; NP1y — for ny7¥n NMaryn
2 Challenge: v. 1 was needed (per »ov "1)to limit rule to those that have nmpna n7nv (not vIn *93)
(a) Defense: then v. 1 could have just stated oTR
(i) Block: perhaps if it only said 0TR, we would think that all 0’93 are excluded
(ii) Counter: mann *93 are included via wa1H 8nv 93
3 Rather: napn 131 (v. 1) teach, per 19, of exemption for 8" from RNV MW (Pexempt for WP nNK2)
(a) Note: perhaps v.1 is only teaching 17’s lesson
(b) Block: then it would state napa 721; Nap) 7Y 9211 also serves to extend to anything which has nmpna nnv
iv. Challenge: then X" who became Xnv from any source (even y1v) should be exempt
1 Answer: 791 and nap serves to exclude them only from nkmv which comes from mA3t and from maps
v Challenge: in v. 4, we would extend 037y to X" were it not for extra n”n (1211) and nNap) BRY
1  Answer: in re: 037y, 751 and n2p1 needed for themselves, as each has different 77y 2>wouldn’t exclude X" v
III  Discussion re: point of birth — if delivered “in pieces” or breech —at 211
a (1179 73) 871 even if the head comes out with them
b 7 only if head is not included; if it comes out with them, once it is out, considered born (1019 — vis-a-vis N1132)
i Proposal: their disagreement is whether or not to accept YR1nw’s dictum — 09932 1019 WRIN PR
ii  Rejection: they agree that D911 9018 WX and if it were whole, w1 would be considered
1 Dispute: if cut up; whether head has any greater significance when 1mnn
iii ~ Alternate version: only if cut up or breech; if delivered head-first, wX1 exempts (¥neither accepts YX1nw’s ruling)
¢ Note: some learned their dispute independently of the mwn — 8" positing that Wk is not like 01ar 217; 7”7 — D28 173 WRI
i Challenge: our mwn implies that if cut up, even if delivered head-first, requires 211 (supports &™)
1 Defense (1217177 7): read “o1yom mnn R¥»” —both cut-up and breech
2 Challenge: Rn»1a reads “W” (a disjunct)
3 Rather: read “if it came out breech (cut up or whole) — requires 217 to be considered “born”
ii ~ 97r follows dispute of mRin — if cut up or breech requires 217; °0y 1 - must come out “1pn3y”
1 Meaning: p"n — if head-first, wX1 exempts; *01 1 — requires 1PN 1217
(a) Implication: if breech, even 11 is insufficient?
(b) Rather (72ar 77): ov "1 — if alive, X1 exempts; if dead, whether cut up or whole, require 21
(c) Note: supporting ®n» 3, with range of opinions as to YoR&1 117 (which exempts); temples, forehead or top of skull)
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